
Half Yearly Examination - 2014 - 15
Social Studies Paper - I Class : X  Max.Marks  - 50

School Name :
Part  -  A  Max.Marks  - 35 Time  - 2 Hours

Note :  Answer  any  5 Questions,  Answer altleast 2 Questions from each group  5 X 2= 10M

 1. Should Ground Water be Considered a Common Pool resource ? Explain your view ?
 2. List out the impacts on Society if sex ratio is too low or too high ?
 3. What is an Aerotropolis ? How is it Structured ?
 4. Why are contracts and networks essential for getting jobs in Urban Areas ?

 5. Look at the below Pie Charts and fill int the Following table of Shares of Three Sectors in GDP ?

 6. For a family in Rural Area in Tamilanadu & A.P. 2009 - 2010, Rice Purchased from ration shops
    account for 53 & 33 Percent respectively. The rest they buy form markets. In West Bangal and
    Assam, Only 11 and 6 Percent of Rice is purchased from ration shops. Where would people be better
     off and why ?
 7. Why do you think Parents accord less priority to girls education as compared to boys ? Discuss in
      Class ?
 8. What do you Understand by Under Employment ? Explain with an example each from the Urban
      and Rural Areas

Group - A

Section - II

Section - II

Section - I

Group - B

  Note : Answer any   4 of the following Questions         4 X 1 =  4 M

  9. Which is the lowest densely populated state in India ?
 10. What is the reason for the population growing in Delhi ?
 11. What is called as “Settlement” ?
 12. What do you understand by Seasonal Migration ?
 13.  Define the meaning of Gross Domestic Product (GDP) ?
 14.  Give some examples where factors other than Income are important aspects of Our Lives ?



15.

     a) Identity roughly how many centuries it took for the world population to double for the first time ?
     b) In earlier classes you had studied about colonisation. Look at the table and identify in which of the

continent the population decreased by 1800.
     c) Which continent has been most populations for most period of time.
     d) Is there any continet that is projected to show a significant decrease in population in future ?
16. What are disagrments between ‘developed and developing’ contries about AGW ?
17. What could be the reasons for the population speed which increases took place after Indian
       Independence ?
18. Which aspects of farming practices were regulated in the context of Hiware Bazar to improve the
        water Conservation ?

19. How is the service sector different from other sectors ?
20. Distribution of Wokers in India

     a)  Majority of workers in agriculture are living in which areas ?
      b)  How is the working conditions of service sector ?
      c)   In which sector less women are working ?
      d)  What is your opinion on the above table ?
21. What is Urbanisation ? What are the problems arasing in Urbanisation ?
22. The workers in the unorganized sector need protection on the following issues : Wages, Safety &
     Health. Explain with examples ?

23.  A) 1) Tropic of Cancer 2) 82 1/2 East Longitude  3) Deccan Plateau
4) Narmada River 5) Indira Point

    (or)
       B) 1) Annaimudi Peak 2) Aravalli Mountains  3) Western Ghats

4) Krishna River 5) Lakshadweep Island

Section - IV
Note : Locate the following places in Indian Map         5 X 1 = 5 M

Group - B

Section - III
Note:  Answer  any  4Questions,  Answer altleast 2Questions from each group 4 X 4 = 16 M

Group - A



Part  -  B  Max.Marks  - 15 Time  - 30 Min
     I  Choose the correct answer           20 X  1/2   = 10 M

 1. Ganges river  formation of  following rivers [      ]
     a) Yamuna - Chambal b) Bhagirathi - Alakananda c) Gangotri - Yamunotri      d) Sone - Betwa
 2. Thungabhadra is tributory of which [      ]
     a) Godavari b) Krishna c) Narmada d) Thapati
 3. How many Percentage of Indian workers in unorganised sector [      ]
     a) 92% b) 29% c) 39% d) 93%
 4. The Census of India is taken once in [      ]
     a) 8 Years b) 9 Years c) 10 Years d) 11 Years
 5. Litaracy rate of India in 1947 [      ]
     a) 12% b) 13% c) 14% d) 15%
 6. Population Dencity of India in 2011 [      ]
     a) 324 b) 342 c) 382 d) 328
 7. Which is the following is not a “Mega City” [      ]
     a) Mumbai b) Delhi c) Kolkatta d) Chennai
 8. In which year National Commission gives report on “Rural Workers” [      ]
     a) 1989 b) 1990 c) 1991 d) 1992
 9. Onum festival celebrated gradually in which State [      ]
     a) Kerala b) Goa c) Sikkim d) Tripura
10.  Indian Emigration Act made in which year [      ]
     a) 1993 b) 1983 c) 1973 d) 1963
11. Urban Population how much increased between 2001 - 2011 [      ]
     a) 7.1 Crores b) 8.1 Crores c) 9.1 Crores d) 10.1 Crores
12. “Suvarnabhoomi” International Airport is in which country [      ]
     a) New York b) England c) Cairo d) Bangkok
13. Bimbetka Caves are in which State [      ]
     a) Goa b) Madhya Pradesh c) Uttar Pradesh d)  None of these
14. Fertility rate of India at present [      ]
     a) 1.9% b) 2.7% c) 3.7% d) 9.1%
15. Where is Rampuram village [      ]
     a) Western U.P. b) Eastern U.P. c) SouthernU.P. d) Central U.P.
16. Origin of Godavari River [      ]
     a) Mahabhaleshvarm b) Nasikthrayambhakam c) Palani Hills d) Nilagiri Hills
17. India lies in between latitudes nearly [      ]
     a) 80E - 370 E b) 680 7`E - 970 25`E c) 370 8`E  - 470 8`E d) None of these
18. Which is the longest Canal of India [      ]
     a) Bakingham b) Mayurakshi c) Indira Gandhi d) Pennar Canal
19. Which sector is indication of  Modernisation [      ]
     a) Agriculture sector b) Industrial sector c) Service sector d) a,b & c
20. Place of India in World Human development index [      ]
     a) 92 b) 136 c) 146 d) 149

     II  Fill in the blanks         5 X  1/2   = 2 1/2 M
21. .......................................................................... is taken as Indian Standard Meridian.
22. Kudamkulam Atomic Reactor is  .................................................................................... State
23. The number of Female for 1000 Males in population ........................................................................
24. What is basic feature of the Census ....................................................................................................
25. Present India’s Prime Minister .............................................................................................................

     III Match the following         5 X  1/2   = 2 1/2 M

26. Chilka Lake [      ] a)  Central Government
27. Organised Sector [      ] b)  Tamilanadu
28. Kudamkulam [      ] c)  Odisa
29. Census of India [      ] d)  Job security of labour
30. Rajiv Gandhi International Airport [      ] e)  Hyderabad

f)  Maharastra

A B


